]PRoBLEM ?’0_] We can rhow £ [x+9:) d.n.e. 53 ,}’L‘
{xq)=2(s0)
&}wo poth lest,

Yo [xw} Li I-——J = lw (4.4.,,; X-axir

(X‘o) “")(O,l) %=30
) [)u—
(s,9) —(%,) ‘0 = 9__)0 [""} = -1 [“/"‘; 9 -owir }

’n'\,sn‘uc, {(3:_’( [m d n.e. Slha ojf 0#’ e
A a,0) | X8 4o aaru Mu\ //mi exwdr

ProgLem 7! |
km‘ (X’ ) = lmn (M[x?+”:!/
(x4%)—> (8,8) 'y (x7) =2 (8,8) M

= pu'm (Xz%”z)

(x,9) =2 {3,8)

z [

= g+ 8

- (3]

PX”W ?3/ I ;vlpc«/ Im (9“+x’ d« ”.¢, 6;{/,{"

(591 =5(0,5)
2
Il'\” (—ﬁ.—. — A;“ _ﬂi—— = O‘ (Ag 464?-)
o | MY £ o (m‘f{’+/

—— e .
Plr)= <k mty = lia Hoogh org
wih rw— <kt £>

led? fe= Asw :}‘ dou

!“'ﬂ A ALV ) - i ( -)_-.
£ =0 ( A+ FH] Trool I+ £ uln‘
Tebu ke -:l and e 06%&4» Py /lf)"ll # O

/Hh riste Lt I.m é‘ﬂ_ dees
’ﬂnru/m, mwnd e (’WI—J{a,‘,, % x
nol' on V'y -
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cg) e g
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T
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: , . 2 — 2? b N
/jﬁam,ﬁﬂ ?""/_/ S Pew /UM [w); ‘f / cAiveraeo
= (%, 9}~ la,u) L XTFDT L
e m:w,_,,,w_,,.m.“w e - P o - .
Aim [ X=X = M f Xa;f ] = i [1—,><} od.n.e.
(%) (o0 L XHXE *j X—=e x>0 | X

/

{

RS

L o, ——f— —_— &} o X'-—?O?‘_ el 3;;-——-3 e af X3¢~
S e X .

ﬂ'\ﬂf@éw{? ’ﬂ\ﬂ }W‘?:’ J &’f“fﬁ’%w

(C‘J”V{’/@}’O Q&ﬂ pwfﬁj Corr V&892
_,f'{@mj Ok Aﬁfﬁﬂg Fri e g %1 //M/;’ (X/‘Q) —> (e 0)

a’f\/er@,@o ) )

e RN
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SRS el e =
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N

d@wé’;}, OIIW@M:
1) L e e’ o f {3 )
53\} Loj@ FSint@ ﬁﬂﬂtfﬂﬁ@ ~velued o = - 0,




PRosLem 75 |

x3eg? o s
ot £ te) = {::T (7] # (o)

A {x-f‘ ) = O
C%MOR /:} J‘UL(,A %Lﬂé 7[ ff Cyn;f{}‘:';uaw a:wf éf{i“‘"&-}ﬂ

A ey

. . 2 3 ) ? - 3 . f’ - . )
) ) . ' (9 — ] S L
/jo/ﬁr C,ozraffm\.ﬁij : /g,fm ( ey @ 4+ 7S /) e ,QEM “"{{M G+ Fﬂ’\j@j/} e {3 .
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Chosse A =0 Fhus /ﬁ'm ftxg)l= 0 = £l

{_\{; “239"} oy éﬁf a}
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MATH 231(DUE TUESDAY BY 5PM OUTSIDE MY OFFICE) PROBLEM SET 4 ’

These problems are worth 1pt a piece at least. Feel free to use Mathematica or some other CAS to
illustrate as needed.

Problem 76 Suppose f(x,y) = & cosh(z +y*). Calculate f; and f,

v r =
£ = cosh (x+¥) + x sinh (x+1¥ )

S

*?Y = 3y x sinn (x+4%)

Problem 77 Calculate V f for each of the functions below:

1. f(x.y) =2z + 3y

Nf = <3, 3>

2. f(z,y) = exp(—a® + 2z — ¥?)

Nf = i dx + '&) - ”)i- o '%ﬁe_xuzx_kg >
E_j_{__ -x+<;>( 3 <\""X,T‘uc}>:jé‘”i—f easier tvr

- Lo calewlohons,
3. f(z,y) =sin(z+y)

W.(J < ces '(“x‘:'a) Ces (x+\’é)}J

Problem 78 What is the rate of change in the functions glven in Problem 77 at the point (1,3) in
the direction of the vector (1, —1). "y {} = < ) >

TQC L, = Yf (1,3)« U

/ B T
1.) DQ‘F (,3) = <2,3>'(¢%<‘1_'>)“ N f\fi—
: ~ =‘,Ge_8"

2) WhO3) = 2TV <omHe(w < D) = | F

3) Duf (3) = oosM, o DY (=t <l,-\>> —



Problem 79 Again, concerning the functions given in Problem 77, in what directions are the functions
locally constant at the point (1,3)? (give answers in terms of unit- dlrectlon vectors)

1(: ¢ nchnd whens DQ‘F(‘?/ (V'(.)ﬁ?) U\ = O,

1.) £2,3>« <2 b> =0 = Ra+ 30 = bm—.—i-.i.
T o =% > (_3[3/2)'*‘5 = "‘b"

NIz
i o= P se (B =T ﬁj
R\/\ = | 2 O>j (D-a almesd Same Ct*-itl-fv{&-‘k‘t;m.j

2.) U)\ -t <Yz, YUz ]

N '
\le bv o '*\: ﬁﬂfﬂ\(-ll?:c
Ao \eng o NL,

Problem 80 Find parametrizations for the normal lines through (1,3) for the functions given in
Problem 77. These lines will be perpendicular to the level curve of f through (1,3)

-+

—

In  each Coas Can R c) = (1,3)-‘-‘}(‘7-“',«.3).'
oot Lor tren R T drop Hha  exponehad consTcD
b o

4

ur\vtn;en(..e,

1) Fom= 0,3+ * 23>

2.) [F k)= (\,3) + X <O,.-—-3>J

3) E[i}'—f(\,?} + + <1, \>7




Problem 81 find all critical points of (use integer notation for (b.) since there are many answers!)

1. f(z,y) = exp(—2® + 2z — y?)

-~ —X +Z)(-—Vc) x -—Lﬁ - .\\. 5 \J\\)
VL (xy) = <o,0> = d€ =%X,=9 ) U/
T ———
Nen2ed o |X=0 & "7 =0
&i‘UJz}._{ o

:5X=’/ﬁ

(0] enly erediat]

2. flz,y) =sin(z +y)
\V2 S (xy) = <<:or(><vvl oo:(x+\m> = (C«w>
_.5 cos X+9) =0 s X+Y = -%_-—(Q‘n-i—])ﬁ"‘pur N € Z

{\-;;‘Y A4 C-MC(‘IT'T(AJ Pom ¢ = { (X,‘Q) l % = ':lz-(an‘i'")?- -—></ﬂ EZ//?J,

Problem 82 Suppose the temperature 7" is a function of the coordinates r.y in a large plane of
battle. Furthermore, suppose the enemy ninja is carefully building a large attack by molding
chakra over some time. During the preparation of the attack the enemy is vulnerable to your
attack. Knowing this he has obscured the field of vision with multiple smoke bombs. However,
the mass of energy building actually heats the ground. Fortunately one of your ninja skills is
temperature sensitivity. You extrapolate from the temperature of the ground near your location
that the temperature function has the form 7'(x,y) = 50 + 2 — y. In what direction should you

attack?

VT ) = <1, =1>

A ( ' f.
3 Lh = -ﬁ <ij"'i> \f dl'rccf'hﬁh

of  Lurlesrt increme in T

and Ahw ’//\ﬂ direchin e enemy.

<)/-—/) alsu a.aoJ AW
( Sih e T didn? .ff?f"*’é
omeé’r)

) /
o — V€ Aur



Problem 83 [use of technology to solve algebraic and/or transcendental equation that the problem
suggests| The temperature in an air conditioned room is set at 65. A ninja with expert ocular
jitzu disguises himself in plain sight by bending light near him with his art. However, his art
does not extend to the infared spectrum and his body heat leaves a signature variation in the
otherwise constant room temperature. In particular,

i azl= 33erp[ & 3" (y‘i)" (2—1)2]+65

Nt

Shino searches for the cloaked ninja by sending insect sgsuts which are capable of sensing a
change in temperature as minute as 0.1 degree per meter. How close do the scout insects have
to get before they sense the hidden ninja? (also, where is the hidden ninja and what is his body
temperature on the basis of the given T which is in meters and degrees Farenheight)

oT 2T QT
VT = € 5 = , 5%

/ /

- « Dol o ok X 9ot
= { &Y R, BWe 53

= et (-Ax-3), -a(4-v), - Z-1) >
Neka  (3,4,1) gves VT BG40 = <o,0,05 and

i oo (3,49, 1) & crihiced Pent ., A memendT retle o,

b \ (xv?) —meﬁm revecdo  (3,4,1) gves tkobd Mo,

Y - e -

AT ok (3,9,0) Wik ToM) = 98" F )

o inpedt sense DTl =\VT- AlZ ol = ena we
$d v, 2) Wik ) PT uvz) = 00l dhen Xhe tncechr Senid
Ao Widdanm ninye, w

T evall = eee™ [ +(3-4) + )" = O-|

USSR — A s bt £k

( Problem 84 Snppo::e A, B C’ are constants. Calculate all nonzero partial derivatives for
2 —Az +B$1}+C'q

Lot > = %+ {3@;93":,4; 19 q,;. f/frr'@.nhgi 3, :’:/;{').. o5
\ x - e O
Yhon \TT xy2lll = 66¢ o =

MNote For ?’zﬁ) we hove @ ~0% ~ 1_ Cp JSelue (b( = Q.

N . ‘--—_-_V“
= o | = nseds wi i AAyTan (R 5
66

Lt g ‘3 . t
N e
66

ong u")ﬂhw‘ P
nJ /p_{ N d,q_

e s epetrererir ot

- | — £ — T wever ‘H\a .rel"—
- ?X == heR SLZ] E HK—U’:'A.'-?'U s beMer
i‘f-'\f — BX + (&cg(j %Xx S / Q_.

/ ( W-\f‘fv... J'\'l@r.h)




Problem 85 Assume g, h are differentiable functions on R. Calculate f, and f,, for

-
=
"%

f(z,y) = zg(=* + y°) + h(z)
_ 't} {X F(x*+ y”)‘

on

2 ﬁ
Q&(X +Y) ¥ X%(Xzﬂ!)‘a (% 4\;7) - h/(x) 3=
\% (x=+v?) + ax= 2/ (x*+y?) +hn'(x) = +e J
) ! %X B
'R/ = %(X 2 (X""-i'\/z)) - ’DT}?E «—_ n (x%) 35
= \Voeih a'(x%v?) ]

Problem 86 The ideal gas law states that P = kT/V for a volume V of gas at temperature 7" and
pressure . Show that

oP

oP oP
Va—v——P and VB—V+T3—T=U
r—'*——"’""_'____—“.
R - 2(K) - KT = ~E = VI = —F
W WAV Ve v T U #J
2 - 2T - k=2 5 TR =P
or ~ oT\V V T -
R oL o |
. 2 T —_ =
s VET =9
Problem 87 The operation of V = Z ey K a

takes in a function f with domain in R" and creates
a vector field V f which assigns an n-vector at each point in R". This operation has several nice
(a.) Vf+ Vg

propertics to prove here: for differentiable real-valued functions f, g and constant ¢,
) V(f+g)=

= 5 R 2 P
< (£+9) ﬁZx %(F %)
= AT (5



(b.) V(cf) =cVf

(et

v (9)

_ 7o
=% 2, Dxé(c-F)
i e

= 2, S%% 5

_ S 2

= - X"a:)xa-

= Cc V£,

Lis 9
et ﬁxﬁ 'DX,A(‘F%)
_ s (o g&)
_zxabﬂ% =

. N

Problem 88 Set-aside the polar coordinate notation. Define in R" the spherical radius by

Show that:
(a.) Vr=1ir

vr

f)

I

il

—

B+ ad+ el = |17 = VAT

5 74 o R
& o Yol =2
P X (ﬁ) e K ANXE
2 R m \ 2K,
A= = 2

n AN
L¥ =1 (unhd lute)

— gy



) = 20 %, 2 ()
V(?‘) N FomiR IO r
oo, >{\< -t B[P )
— e X,
et 2 kr‘ 1] j b ‘3? ﬁ,,m &)
X W
n ~
— =1 Xa X,
= =T B
= - ’
o . X = _—_._.__A — —_—-—-r '-p'or ’H‘\f
- _Y%i xﬁ xﬁ e '(\3 r o , i '._\.f\-\’\‘{"rffff'a//

\é:\

Problem 89 A "power” rule? Show V7" = nr" 7.

7 (r) = > §\<;a %»5( ")

e n=l ar
= ne =
_sz ﬁxz"; by ¥ Fo Lo
TR AN n=\ ><.
= i X’b nr -——'Lr\
Jp(n | . o
= nr \? P x,é,xﬁ)
= ar"T P

Problem 90 Find the gradient of:

L. f(i’,y,z,w)=m+y2+z3+w4

VF =<1 3y, 327 4w

2. f(r,y,2) =xyzIn(z+y + 2)

XYz _\_
[-_GC <°”"‘ (xr972) * Reve, X#n(*”*? + 3w, XY Intever) + 5085




Problem 91 Suppose Paccun speeds towards the base of a valley with paraboloid shape given by the
equation z = 22 + 3y®>. What is the direction of steepest descent at the point (1,1,4)?

L%, 69

Descet %w_wl-t’f W decceagen fﬁ” .
— dicechon  of - V3% (,N= =<3, 6)_(<..;) é>

O o @ Um:+,uea-a,/{_ﬁ<_a,¢gﬁ

\
N o Ho ! |
Dy B = 9200 &« G o
Problem 92 Let f(x,y) = 23 —zy. Let A =

2 AL ONKXQA, J
t 7% () *wga./
de creece
(0,1) and B = (1,3). Find a point C' on the line-segment
AB such that f(B) — f(A)(= V(C)(B - A). ]

knawn _for reat-valued fun nctzom sewmi variables)

(this illustrates a mean-value theorem w}zz’ch is
L£(8)=Ff(r) = £(13)

-L£(yl) =1-3-0
V& = <?XZ;‘%}9 —X> 9 3

Let C = (Xx,Y) and nele

—y

-A = <1, 20
W Mt
('3>c2-~\9,—><>-< \

= -3 = 3x*-Y —x -
Nuk’_ (x9) it on AG Ience It e JC such AT

B = (o,0) +A<L2> = <%, 17 S == K YD
Subetihta ints (1)

= 3(#)'= (1+a4) = ar
3t =Yt + = O
7{-:‘/1'#’6-!5? - Yz - £ =
¢ A 6

G
WQ uVur‘Jb 041 ‘;/ ‘Ar Fi[?e) an ’:—é— Lo Cl’\o.) o /\

:\(r/3 , 3/3)}

N

C = (%)




Problem 93 Suppose F(z,y,2) = (2zy% 22%,3). What scalar function f yields F as a gradient
vector field? Find f such that Vf = F.

(here we have to work backwards, write down what you want and guess, by the way, the function
— [ is the pontial energy function for the force field F. )

’ax N m————— b r i e 2=
R Y = - /‘_,.-———.

; ' 4k & e .-3._,.," ¢
! (x, 12) x? 2 C-f _((_x? 42) = )<‘ b +CZ { 7 ; .

G [fovm = ¢33+ < |

Problem 94 A basic wave equation is
%y _ 2829'

— =V .
ot? or?
The wave can be viewed as a graph in the zy-plane which animates with time t. Calculate

appropriate partial derivatives to test if the functions give a solution to the given wave equation.
(¢, ¢2,v # 0 are constants)

(a.) y(z,t) =z — vt




(b)) y(z,t) = ersin(z — vt) + ¢y cos(z — vt)
Yy = -GV (x-v#) + GVSin (x= V1)
‘g{-f = - C,stm(x-vi) - C2 vicor (x-v;(») = ..Vz Lé«
U = G Cor (x—vE) = Gsin (%= vit)

(OKX o= CISf'h (x-vt) = CZCM(X—\/*) = =%

?2% 2
= -V Y
Thus  Sf=
| %Y 2 __'
alp NEEer = v(-49)
i 9?9 — VZ 929
e Di? ?xz
(c.) y(x, t) = sin(vt) sin(x)
\9;{- = s (Vi')fmx
G s ()X = VG
9, = cin vt €05 (<)
Y = —sinvlsmx = —4
MVZ%: 2?9 - \/2-_9_:2

A? o

e ®




Problem 95 Show that u = e” cos(y) and v = €” sin(y) solves Laplaces equation ®,, + ®,, = 0.
p — _oXer
For : Uy = el g Ly = —E &y y
. . . o+ {4 =
Upe = e s Uyy =—€"cor? ' Uy Yy .

For Vo V)( = exjfh? V‘J exCpf 4
Ve =€F S0y \/W-.-—ex:m\/ 2 Voo # Vyy = O.

Problem 96 Find the best linear approximation of each object at the given point. Also. write either
and equation or a parametrization of the tangent space in each case ("space” could mean line,
surface, space curve or other things...)

(a.) flz)=22ata=2 p -[/(X} - 2X.

\L_g (x) = §(a) + £'la) (Xx—a) a

i S e e B il I

= |T+ 4 (X — a),_

i

2

= 9-24 =I5,
(B Flaa) = gt~ dsys 6.8 Flny) = 9- @)

Op = QW = Y 4 T RXD
Vf (34) = <6-§ 6> =

U_g (xy)= =15 - A(X-3] = 6(9—VY)

-2, =6

F(O) = <O/ ?f °> 4
ri)=<1,0, aat e K >

Ry = 1,0 ,00

(e.) i) = (£, 3, 52)at t=0

-—

Ll = <o, 3,05+ # <.,o,o>7




Problem 97 Given that z = u*> + v* and y = 3uv and z = 3sin(uv) and w = ze™ calculate w, and
w, and finally w,.
w=W(X V¥ 2)

_QW _ 9woox . pw Y, QW 92
Wu"fau T X U Y M 22 W
= yze'' () + xze (3v) + € Bcorw .V
,& u«kere X‘M +v |
M = Suv
R | - O*NQE\4.@.E'Q_Y_.+ Q_"W_Qi 7 = 3rnuv
Wy TSy ™ W v 9 P2 oV —
= Y2(ay) + x3€*7 (3u) + 7 Bos(uv) -k

*

W, = W 9 (3eY) =[€><V |

Problem 98 Calculate the Jacobian matrix of #(u, v) = (u®+v?, 3uv, 3sin(uv)) and that of f(r,y,2) =
ze™. Multiply these matrices and identify how this relates to the previous problem.

- 2 3 !
e [ — —— —J_,,:' s 3x<
r = AF | oF | = | 24 i
] W | ov | 3y EL

3vesv) | 3wy

£'= ¢ = [vzeY, xze™, ]

i\t X .
- -For‘ —— -F/F"” - [\/Ze X:Eex XY] 24 | eV 1
[
3V Ty |
?V&{}‘U‘J / ?J fOf{/#Jii
J

W QW Xy o/ X'y
L5 2] = [vee i eV v e Okl =

e TR S e

it

S ype @) + x2€Y (3u) + ¥3ucs wv |

G
2w
IV

R

mav{c/\e_g' )



Problem 99 Suppose z = zy and x = sinh[g()] and y = h(t?) for some differentiable functions g, h.
Calculate dz/dt by the chain rule(s).

9z = 5 ()
,J;.L@ & X |
_ .d.lsn‘nk(%( Y o+ X 3}_[% *?J |

= aR

— ) osh (9) da% + X h'(A%) -
- @ ¥) cach (94) 9 ) + sinh (941 h’/f"? 21 ;

2 ) z 2 2
1 32¢ X2y - 27 =
Problem 100 Suppose a car speed(\oa\sre;/ hill with equation 2z + 4y + 2% = 1. If at the point with

x = 1m and y = 0.5m the car hasan z-velocity of 10m/s and a y-velocity of 20m/s then what
z-velocity does the car have? (assume the car stays on hill) 2 2
25 =\ 24y

XX+ 849 — 333 =0 o

= 2=%|m
@

_ oxx + Yy
5’_’ 2,

G lea]  _qidsn) (20 %)

im

—

= /o m/j‘ + Y0 M/;‘

- fo7% ]




